PARX-POLEM

QUICK FACTS
Suits 150W/200W/300W
Material Mild Steel
Colour Black
Weight 22509
Finish Matt Texture
Fixings Included

PARTS LIST

2 x M10 x 140mm BOLTS

2 x M10 NUTS

2 x M10 FLAT WASHER

2 x M10 SPRING WASHER

1 x PG9 CABLE GLAND

1 x POLE MOUNT STIRRUP

Installation: Variable mounting configuration

as pictured

PHOTO

DIMENSIONS

Subject to change without notice, errors and omission excepted. Always make sure to use the most recent release.

www.haneco.com.au
Email: info@haneco.com.au

&

Last update
November24,20169:34AM



